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01 At 2teltl 3,600 3,600
O ZAE SEEA 22d X&  3,600,000& 3,600




N SUISAHE A
HE: 24 B L
el ZAIE M2HX 24 (&)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Jl 1,800
s 1,800
IMNE HEEHX SES A 1A 16,600 12,500 4,100
J| 6,250
s 10,350
101 @144 Hl 16,600 12,500 4,100
J| 6,250
s 10,350
04 DIZtHZ22 s+ 16,600 12,500 4,100
O ZAtE SEIA oAdd X& 12,500,000 12,500
J| 6,250
= 6,250
O F=5=¢ 50,0003 1 52 2,600
O 401 2= 1,500, 000& 1,500
FEEF IS 709,421 460,104 249,317
f=EE S3HelAE 709,421 460,104 249,317
II=ESS3HeE 2229 709,421 460,104 249,317
101 1A Hl 5,868 5,008 860
03 RIHAZ 2T E =+ 500 0 500
O N=2aMeld 2SR I=4H 7
200,000& x1Q1+23] 400
O NE2LHUN 2Y2R AFE 7Y
100, 000& 12! 100
04 JIZHHZ2XRHEE S 5,368 5,008 360
O JNsBaMeldUl ME=ay o2y
59,0003 #4013 6 4,248
O Its=2=dMaEU olFI ey
140,000& 201 13| x4 & 1,120
201 €24l 502,013 369,896 132,117
01 At 22l 71,320 58,020 13,300
O =Ml A2 2UHI(HELS)
500,000& 13| 128 6,000
O =M 2SR I=4H 7
200,000& x321+23| 1,200
O N=2Meld 2ERA 2ds 7Y
100, 000& *32! 300
O [otE &Il erdIl= AT
2,100,000& »23| 4,200
OJE2h 22X H2AN +48
300,000& x2&+23| 1,200
O dH d2FA === 45,0003 »18F »23| 1,620
O J=E2h X HMeldl
80,000& *2.2E*300 52,800
O I deld Ald2e g dxzs
200,000& x53| 42 4,000




EXN: FSAXEAE A
B §EEH MRS
el JIERL ZRHAL (S &2)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
02 2224 H| 430,693 311,876 118,817
O IJ=s2axeld AMEHH KX 22l
10,000,000 13| x12& 120,000
O JN=EEaNedHE SHea
10,0002 x13| x12& 120
O JNE2eNdedHE I3
25,000,000 13| x12& 300,000
O H&aAZMI SFH 1,328 x20¢ 22«12 636
O J=EE el e 85
1,323 4004 *6& 3,176
O 3Endyd 8= 700,000 *1CH*13] 700
O sy 50U 1,323 x20Lx 12 x12& 3,811
O SEXNY NsSIHA 100,000& 1L *23] 200
O sEXE A =2 50,000 *1CH *13] 50
O JEsEaXHeHy sEaXNE 2l=d
1,000, 000& =10 *23] 2,000
206 M = dl 136,540 85,200 51,340
01 X2 H| 136,540 85,200 51,340
O J=2L Ml dHH M2 sS8H 945
140,000 x25kg* 13| 128 42,000
O = deld dE(EFAY)
3,000€ *1,200L*13| x12& 43,200
O JI=EesHdeld dE(DNE20H)
5,500& *500kg* 12& 33,000
O JI=EesHdeld dE(UMELIH)
4, 400& *300kg*12& 15,840
O Js2eXded ANAsHH ol #¢
5,000 x2500H x23| 2,500
401 AlEHIZL £ 0HY| 57,000 0 57,000
01 Al&H| 57,000 0 57,000
O IN=S2aXeld &FAE B2
50,000,000 = 14! 50,000
O dHlEs &H 2= AXN(S0AE) &
7,000,000& =14l 7,000
405 XHAHF S HI 8,000 0 8,000
01 AL 2 ZF S| 8,000 0 8,000
O JI=E2sded IsHHE 2IHE (Bl =2)
2 4,000,000 *2CH 8,000
HEHSHAY| (SAEEAA) 75,992 0 75,992
Jl2&ddl 75,992 0 75,992
J2dH (SMTEAMEN) 31,880 0 31,880
201 et d| 28,480 0 28,480
01 AR 2t2l ] 28,480 0 28,480
O SRS AS A LAY 50,000& 114 5,700
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